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if (fork()) {
for (i = 0; i < 50; i++)
compute (i) ;

} else {
for (i = 50; i < 100; i++)



compute (i) ;
}
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Monitor Account ({
// condition variable for outstanding withdrawals
condition cond;
// account balance

int balance;

void increase(int n) {
balance += n;
cond.signal();
}
void decrease(int n) {
while (balance < n)
cond.wait ();

balance —-= n;
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Monitor Account {
// condition variables for outstanding withdrawals
condition cond[N];
// the amount of outstanding withdrawals; zero means free
int amount [N];
// account balance

int balance;

void increase(int n) {
int left;
balance += n;
left = balance;
// waking up withdrawals that can be satisfied
for (1 = 0; i < N; i++) {
if (amount[i] && amount[i] >= left) {
left —= amount|[i];

cond[i] .signal();

}
void decrease(int n) {
int i = 0;
// finding a free index in cond[] and amount/[]
while (amount[i])
i++;
amount [i] = n;
if (balance < n)
cond[i] .wait ();
balance -= n;

amount [i] = O;



